



If  $K \in s(BQ)$ , then  $K^{*2}K^2 = (K^*K)^2 = K^{*2}K^2$   
 $(K^{*2}K^2 (K^*K)^2) K = K^{*2}K^2(K^*K)^2 K$

$$\begin{aligned} &= (K^*K)^2 K^{*2}K^2 K \\ &= K^{*2}K^2 K^{*2}K^2 K K \\ &= K^{*2}K^2 K^{*2} K K^2 \\ &= K^{*2}K^2 K K^{*2}K^2 \\ &= K^{*2} K K^2 K^{*2}K^2 \\ &= K K^{*2}K^2 K^{*2}K^2 \\ &= K ((K^*K)^2 K^{*2}K^2) \end{aligned}$$

As desired, hence the proof.

- Theorem 3. Let  $K \in s(BQ)$  and  $B \in s(BQ)$ .  $KB \in s(BQ)$  provided both  $K$  and  $B$  are doubly commuting.

Proof.

$K \in s(BQ)$  implies ;

$$(K^{*2}K^2 (K^*K)^2) K = K ((K^*K)^2 K^{*2}K^2)$$

Similarly  $B \in s(BQ)$  implies ;

$$(B^{*2}B^2 (B^*B)^2) B = B ((B^*B)^2 B^{*2}B^2)$$

$$\begin{aligned} &[(KB)^{*2}(KB)^2((KB)^*(KB))^2](KB) \\ &(KB)[((KB)^*(KB))^2 (KB)^{*2}(KB)^2] \end{aligned} =$$

$$\begin{aligned} &= K^{*2}B^{*2}K^2B^2((KB)^*(KB))((KB)^*(KB))(KB) \\ &= K^{*2}B^{*2}K^2B^2((K^*B^*)(KB))((K^*B^*)(KB))(KB) \\ &= K^{*2}B^{*2}K^2B^2 K^*B^*KBK^*B^*KB K^*B^*KBKB \\ &= K^{*2}B^{*2}K^2B^2 K^*KB^*BK^*KB^*BKB \\ &= B^{*2}B^2 K^{*2}K^2B^*BB^*BK^*KK^*KKB \\ &= B^{*2}B^2 K^{*2}K^2(K^*K)^2B^*BB^*BKB \\ &= B^{*2}B^2(K^*K)^2K^{*2}K^2B^*BB^*BKB \end{aligned}$$

$$= KB B^{*2}B^2(K^*K)^2K^{*2}K^2B^*BB^*B \text{ (Since } K \in s(BQ)\text{)}$$

$$\begin{aligned} &= KB (K^*K)^2 B^{*2}B^2 B^*BB^*BK^*K^2 \\ &= KB (K^*K)^2 B^{*2}B^2 (B^*B)^2K^*K^2 \\ &= KB(K^*K)^2(B^*B)^2B^{*2}B^2K^*K^2 \text{ (Since } B \in s(BQ)\text{)}. \\ &= KB((K^*K)(B^*B))^2B^{*2}K^*K^2B^2 \end{aligned}$$

$$\begin{aligned} &= KB((K^*B^*)(KB))^2K^{*2}B^*K^2B^2 \\ &= KB(((KB)^*(KB))^2(KB)^{*2}(KB)^2) \end{aligned}$$

Hence  $KB \in s(BQ)$ .

- Theorem 4. Let  $K \in L(H)$  be such that it's both self-adjoint, 2-self-adjoint and be a  $s(BQ)$  operator, then  $K^* \in s(BQ)$ .

Proof.

$K \in s(BQ)$  implies ;

$$[K^{*2}K^2(K^*K)^2] K = K [(K^*K)^2K^{*2}K^2]$$

A being self-adjoint implies  $K = K^*$  and 2-self-adjoint implies  $K^2 = K^{*2}$   
 Thus;

$$\begin{aligned} &[K^{*2}K^2(K^*K)^2]K = K^{*2}K^2(K^*K)^2 K \\ &= K^2 K^{*2} (KK^*)^2 K^* \\ &= K^2 K^{*2} K^2 K^{*2} K^* \end{aligned}$$

$$= K^4 K^{*5} \dots \dots \dots (\alpha)$$

$$= K [(K^*K)^2K^{*2}K^2]$$

$$= K (K^*K)^2K^{*2}K^2$$

$$= K^* (KK^*)^2 K^2 K^{*2}$$

$$= K^* K^2 K^{*2} K^2 K^{*2}$$

$$= K^4 K^{*5} \dots \dots \dots (\beta)$$

From  $(\alpha)$  and  $(\beta)$   $K^* \in s(BQ)$ .

- Theorem 5. Let  $K \in L(H)$  be both self-adjoint, 2-self-adjoint, then  $K \in s(BQ)$ .

Proof

$K$  being self-adjoint implies  $K = K^*$  and 2-self-adjoint implies  $K^2 = K^{*2}$ .

Now;

$$[K^{*2}K^2(K^*K)^2] K = K^{*2}K^2(K^*K)^2 K$$

$$= K^{*2}K^2 K^{*2}K^2 K$$

$$= K^2K^2 K^2K^2 K$$



REFERENCES

- [1] Jibril, A.A.S., On Operators for which  $T^*T^2 = (T^*T)^2$ , international mathematical forum, vol. 5(46), 2255-2262.
- [2] K Meenambika , C.V. Seshaiiah and N. Sivamani., Skew Binormal operators acting on a Hilbert space , IOP Conf. series : Journal of physics : conf. series 1139 (2018) 012056.
- [3] K Meenambika , C.V. Seshaiiah and N. Sivamani., The class of n-skew n-binormal operator , IOP Conf. series : Materials science and Engineering , 1145 (2021) 012072.
- [4] SadiqNaji Nassir Al-Nassir1, Radhi I.M. Ali., On 2-self-adjoint operators, Mathematical Theory and Modelling, vol.6(3) (2016), 2224-5804.
- [5] Wanjala Victor and Beatrice AdhiamboObiero., On class (BQ) operators, Global Journal of Advanced Research, vol. 8(4) (2021), 118-120.